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De  piramide  in  de  praktijk



De	
  piramide

•Voorbeeld	
  van	
  een	
  PB	
  met	
  overwegend	
  de	
  
piramidestructuur	
  op	
  het	
  2e en	
  3e niveau	
  	
  
(paragrafen,	
  alinea’s)	
  
•De	
  gehele	
  tekst	
  is	
  echter	
  een	
  trechter
•De	
  samenvatting	
  biedt	
  een	
  piramide-­‐view



Doel	
  van	
  deze	
  flits

• Analyse	
  van	
  een	
  BP	
  – PB
• Op	
  welke	
  niveaus	
  is	
  de	
  piramide	
  herkenbaar	
  in	
  
deze	
  PB?

• Hoe	
  zou	
  dit	
  nog	
  versterkt	
  kunnen	
  worden?
• Transformatie	
  ladenkastje	
  -­‐>	
  piramide	
  



De	
  piramide

kern

toelichting

details,
onderbouwing



Het	
  ladekastje

startzin kondigt	
  inhoud	
  aan:	
  soms	
  inclusief	
  een	
  kerngedachte

eerste element	
  /	
  stap	
  /	
  gebeurtenis	
  /	
  aspect

tweede	
  element	
  /	
  stap	
  /	
  gebeurtenis	
  /	
  aspect

derde	
  element /	
  stap	
  /	
  gebeurtenis	
  /	
  aspect



De	
  trechter

inleiding

argumenten,
feiten

kern



Makrostructuur	
  PB:	
  trechter

Samenvatting
1.	
  Platforms	
  veranderen	
  de	
  wereld
2.	
  Hoe	
  ordenen	
  platforms	
  informatie?
3.	
  Risico’s	
  bij	
  ordening	
  van	
  informatie
4.	
  Hoe	
  werkt	
  concurrentie	
  tussen	
  platforms?
5.	
  Beleidsopties	
  voor	
  transparantie
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  transparantie



Paragraaf	
  3:	
  Piramide

• Start	
  met	
  beschrijving	
  van	
  twee	
  structurele	
  
risico’s:	
  de	
  kernboodschap

• Uitwerking	
  van	
  deze	
  twee	
  risico’s:	
  
hoe	
  zien	
  ze	
  eruit?	
  
wat	
  zijn	
  de	
  gevolgen?



Analysevragen

• Welke	
  vorm	
  (piramide,	
  trechter,	
  ladenkastje)	
  
herken	
  je	
  in	
  de	
  afzonderlijke	
  alinea’s	
  van	
  
paragraaf	
  3?

• Hoe	
  kan	
  de	
  piramidevorm	
  van	
  paragraaf	
  3	
  als	
  
geheel	
  versterkt	
  worden?
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  2


